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Examples from textbook pg. 116

1.  Standardizing Skiing Times

The men's super combined skiing event debuted in the 2010 Winter Olympics in 
Vancouver.  It consists of two races: a downhill and a slalom.  Times for the two events are 
added together, and the skier with the lowest total time wins.  At Vancouver, the mean slalom 
time was 52.67 seconds with a standard deviation of 1.614 seconds.  The mean downhill time 
was 116.26 seconds with a standard deviation of 1.914 seconds.  Bode Miller of the U.S., who 
won the gold medal with a combined time of 164.92 seconds, skied the slalom in 51.01 
seconds and the downhill in 113.91 seconds. On which race did he do better compared to 
the competition?

His downhill time if even more below the 
mean than his slalom time.  Therefore, 
his downhill time was more remarkable.
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2.  Your statistics teacher has announced that the lower of your two test scores will be dropped.  
You got a 90 on test 1 and an 80 on test 2.  You're all set to drop the 80 until she announces that 
she grades "on a curve."  She standardized the scores in order to decide which is the lower one.  
If the mean on the first test was 88 with a standard deviation of 4 and the mean on the second 
test was 75 with a standard deviation of 5.  Which one will be dropped?

Test 1 will be dropped because it's 
standardized score (z­score) is closer to 
the mean.
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3.  The calorie content for 23 variations of Kellogg's cereals averages 109 calories per serving 
with a standard deviation of 22.2 calories.  The mean fiber content for these cereals is 2.7 
grams per serving with a standard deviation of 3.2 grams.  A service of Kellogg's All­Bran with 
Extra Fiber has a very low 50 calories and a very high 14 grams of fiber.  Which is more 
remarkable ­ the calorie content or the fiber content?  Explain.

The fiber content is more remarkable 
because it is furthest from the mean. 
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Homework: Pg. 131 #14, 15, 16, 17 
14)
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